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It is evident that Uloh maintains that wherever there is money and
lashes, he pays money but is not flogged

Overview

X7 resolved the contradiction, answering that our m1wn which requires paying 01p
is referring to a 771 (where there is a 01p 2vn), however the mwn in N2 which
requires Mp>n is discussing a N732 (where there is no 01 21°1) therefore she receives
mpon. The X nx derives (from this answer) that X7 maintains that wherever there is
both a 11 211 and MpPon (like 77w1 in our 73wn) he needs to pay the money (the 01p),
but does not receive Mpvn (since 9w AP PR)." Mo questions this assumption.

n1voIN asks:
= 0YWUN KXY NINMI PY NPYIIT 920 Nnbya XYY ©7UNY 1D NI 9NN ON)

And if you will say; how does the X1 know that X7 maintains that wherever
there is 1% and Mp2n the rule is that he pays, but does not receive mpon, perhaps
elsewhere (not by 01p 21 for a 77v1) X7 maintains that wherever there is 177

mpony, he receives nypv» but does not pay money -
- 219991 1993 1993 (3,09 41 YT 1ANTI KPP S9XT N3N DYUNT YD NPIT XD

But it is only here by the 01p of a 77v1 that he pays money (but does not receive
mpon), as the Xna stated previously that by 77v1 the 7710 revealed to us by writing
STV L0 LW that he must pay 03P (and [therefore] not receive mpon [for oowm P12 PR]) —

MvoIN anticipates a possible answer, but rejects it:
= OOYN KD DY NP NNDHYAT 79D X920 INT DN 13929 W9V 195 991D )ON)

And one cannot say as the n''2 explained how we know that X9 maintains X117
P9 X1 07wn, for if X7y maintains that generally the rule is he receives nip» but

does not pay -
=12 99913 N9 INMNNA 29 (X,3 91) TINT PPNHINN MIIPIND 1D NN

! Otherwise he should receive My and no payment, so the contradiction is not resolved.

% The 77N writes (3,20 [R¥n] 027) regarding a 0IXn that 771 WK R¥° 3 and in the next (W) PI0D that *ax? "3 1NN
7. We derive from the two 717v1 and the extra '77 that there is a 01p 211 by 1) a ‘regular’ 77v1 (but not by a n72),
2) a 77v1 who is prohibited to him by a X7 (like a n71n [even though he is not permitted to marry her, and cannot
legally fulfill the TwR> 7970 &91)), and 3) (even) by a 77v1 who is prohibited to him by nin»3 2 (like 10Nk [where
not only is he not permitted to marry her, but also that 72 10910 Pw17°P 1°X]). In all these three cases (including 21
mn™1 PIRY) the 70 rules that he must pay the 01 (but no Mp» since PRYwWn PPI1? PR); however in all other cases
of mpom1 1 perhaps he receives only nmpon, but no payment.
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X71v should have also established the 73w in n1o» (which states that 1R 7Y X257

is 7717) by his sister who is a 73, and they warned him. Therefore® he receives
mpYn, since 0YWH R A7 -
=132 99NN XYW 1PN2NNY

And our mw» is discussing where they did not warn him (so there is no mpn), and

therefore he pays the 01p -
=Y XD OYWN NINN ) NNYYAT 920 INTI NIN

Rather we must say that since X2 did not offer this answer, he certainly

maintains that even elsewhere he pays and is not 777> -
= 992 IMNNA M9NT PNH2INN MIPINY 81 MN KD 13N

So therefore he could not establish the 71w in no%» by 7991 MWIAR and 12 1707,
because the rule is in all cases that he pays and is not 7?%. This would seem to answer N201n
question —

Mmoo rejects this answer:
= YIPY WD NY 920 NIIYT 919910D NIINT 4?”‘1 v YPNT

For this is not a correct inference, since we can say the reason X?w did not establish
the 73wn in Mo» by 12 170 71 NN and our 7IWn by 12 107 X7 (is not because he

necessarily maintains that °p% 8?1 07wn, but rather) because 871w agrees with »''1 -
- (3,19 19D 19297 12 990 NIY INI 12 19NN JND $9IWY sya N1

Who (also) did not want to answer, ‘here (in N12») is where they warned him, here
(in our mwn) they did not warn him’, as the X713 explains later that the reason is -

= SPISYUNN 1 15909 PPINY NP 23NT 1Y TOINRT NY1TY P9I PRT
That according to >"2 there is no difference whether 12 17077 or not, since he
maintains that those who accidentally transgressed a X7 nmpY» 211 are exempt

from payment -
- %5901 170 80 1910 XY X9PN DIPY 13391 IN) 931997 KY 12929901 P

Regardless whether the 2>7v warned him or not; and if we include from a o9

that he receives 017 by 17077 X» the same would apply by 19057 that he would receive
oIp.

* The 7> of 77w 77w1 would be applied only in a case of 12 1077 9.
* The inference that if X'y maintains 0>wn X1 P12, he should have answered that our 71w» is 12 107 X5W3, is not
correct, for R9W can maintain 25wn "X 71?1, and nevertheless he does not answer, 17077 X9WwW2 PRI .
> See previously X27p17"7 '01n on this 7y TIE footnote # 9.
6 Why therefore would he pay 01p in our 71wn even by 11077 X2 since 12w 1 10D 13w N1PPoR 220m.
7 mooin is seemingly referring to the w17 of 7¥37 w1 (see footnote # 2) that he pays 03p by 107 X7 (see footnote # 3).
8 Why therefore would he receive mpon (even) if 1ni. There is no difference between 711 3w by nvphn 20
(regarding m>wn; he never pays), the same will apply if he has to pay, he always has to pay, even if 1n.
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mooin offers his interpretation how the X3 surmised that X7 maintains 7217 1°R) 2oWn:
=99 NY NPDIN YYUN NN 1Y N0 TN I¥T PNYY 139299 NN

And it is apparent to the "' that perforce X2y maintains X Xp5 2 abywn N1
"»%, everywhere -
- N9 53950 111 PINY 53590 NP 1NN 13539119
Since we require one P15 to include 8% 521 (that they pay 01p), and from
another 7105 that NINSM2 3297 (pay 01p); this proves that 09wn X1mn everywhere -
- PINY 52519 111 Yy 3NY 10 NNYT SPY P NYYA INT
For if elsewhere the rule would be "% 8p»% (but he does not pay) we could say
that perhaps one 05 includes 7wy 21, and another 105 includes 8% 92%7;

we need an extra P09 that PIX? 217 pay 03P (and it is not included in 7wy °2°71) -
- 1abun 1998 1PIY NPT 2 Yy 9N

Even though that elsewhere where there is mphm1 1an the rule will be 198y 7PY»
2w, however here since we have an extra 109, he will pay P17 1°X1. Now that we’ve used up

both 0°»109; it will turn out that only X% *2m 7wy *2°n pay -
- 190 N3 YWY DYUN 19927 DIUN XY MNI5 %290 Yan

However ninsa> 53 will not pay, because we require that she should be a
woman which he can marry (72 o0 Pup), and M3 *3»n2 POOIN PYITR X -

$PINY 229903 P01 PYITH 9NT 192919
And this will follow the opinion of the 3239 who maintain that P217°p are 1°0510
by 3°IR® 929711 (but not by mn>3 *27n).

- NOIVA RNYNY DID NI KON KNI NN 75197 DIWN RINNT D317 BN 19539 WD Pnw)
[And, in addition, the n''5 explained that the X7 inferred that X?v maintains that
he pays money (7217 11°RY), since the X123 asked on s'®7W answer that the 71w in non is
discussing a nama where there is no (171) 01p, therefore she receives Mpon, but (asks our

? See footnote # 2. The first P10 is o1 (that she must be a 771, not a N1313). The other two 0’109 are 727 the two
cases of 1KY °2> 11 (like a nman) and Mn»2 °2>n (like 1NINX); that they too must pay 01p.
10 9wy »27n are like a *xn before *w*>w 17, which is prohibited by the 7wy of 1 27p2 0% X2 *wHw M7 (see 027
v,30 [Xxn]), however before *w2w 717 they are MoR. See 7mM 17"7 2,03 'O,
" However if we maintain that (even) Xn%ya the rule is 7pY? R obwn there is no reason to have two 2’109 for WY
X?; there is no grater w171 by X7 *21 than by 7wy *21 (there is an MoK in marrying either one, and PP are
10910 by both) so we can derive both of them from one 105. That leaves an extra 2105 for nn>> 21 (which we do
require for we may have thought that since nmin>> *2>°12 PO PP TR, it does not fulfill the criterion of 70 1
mwR?, and he would be o from paying the 01p. The extra 109 teaches that nevertheless (even though PP PR
1091n) he pays 03p.
2 We see however that 79 maintains (in our 7wn) that by mn3 *2»n he also pays 03p (he says our 7wn is MANI
77w), that proves that he must maintain *p% X1 09wn; otherwise we should exclude mn»3 >2»n.
13 Therefore we need a separate P05 for 1K "1 (where 1wY7°P is 1°09I0) and for Mn®3 °3»1 (where 10910 PR TX).
'* The marginal note indicates that the following is from o*aw> maon.
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X73) there is the payment of nw1a and 235, so why does she receive nip%n, and the
Xnx answers we are discussing a case where she is a W, so there is no N2 or 23,

therefore she receives mpon -
- 555 X9Y DYW NINDN 523 RNYYAT 920 INT KINX DIUN 199R) NPIYT 53U N

But the X773 did not answer that the reason by a n732 he receives Mpon is because R7W
maintains that abw» 181 P19, the reason is that X7 rather certainly maintains that
even elsewhere (besides the 01p payment) the rule is 5p» K91 2bwn —

mMooIn has difficulties with this explanation of the n"=:
= 1199 9INPT NN NTINON NON N9YY 9931 Nt RDOPY DRI PRT VP

And this explanation is difficult, for it does not appear that this question and answer is
from the words of X?, rather the X223 is the one who said this answer of T0Wwa —

A second question:
- DIUN RIMNIT RIP O3 U191 DIPIT YNWR I3 NN NN [XNY] KON 7O 1)

And additionally, since the X3 concludes, ‘rather we must say that 87w derives that
P17 R aYwn from the 7w 7913 of nnn nnn, this indicates that even regarding zip

itself X7 requires a P15 to teach us that he pays money, so the question arises -
- 22n9930 1Y 993 1INY KY SNIN)

But why cannot we derive from 799277 7992 991 that by 03p he pays —

A third question:
- N9 9297 D3P0 D) DY 99957 N1 RIYY 199 NI ININD IR TN

And furthermore why does the X123 ask how does 877 know that 7217 1°X1 0%wn, let us
say that he derives 2321 n232 from 217 where the 77910 included it that 775 10X own —

mooIN rejects a possible answer to this third question:
= 099197 01 AN VPN 992 19295 XY ©IpN NNIN v

' nwa is the payment for the shame she endured, and 239 is the payment for the loss of value that she suffered, for
now as a 717Ww3 she is less worth (for 1w17°p) than as a 79n2. It is similar to the payment of pra.
1 We derive that X9y maintains *p% X1 05wn from the fact that he did not answer that by N2 he receives mphn,
even though there is a 117 211 (of 0391 NW12), because the rule is a7wn 1°K1 717, Since X2 did not offer this answer,
it proves that he maintains that even Xn%v2 the rule is 712 X1 2own.
"7 %91 did not say that the n732 in n» was a 7vW. In fact he may never have even heard this question. We,
therefore cannot make any inferences from the answer given, because it is not X9 speaking, but rather the Xna.
'8 According to the "1 the inference is from the discussion concerning N3, where there is no o3p, indicating that
concerning DIp it was obvious that 7% R 0wn, the only question is how does X1 derive it by (2301 nw) .
However from the ensuing X773 it seems that this issue is regarding 01p as well
1 The one nnn (in v2,20[XxN] 0*127) which states 71y WX nrn is discussing the payment of 01p by a DIR».
% In the yaxwn w"17 'on these words do not appear. It would seem then that mooIn question (according to the "7
YIRWN) is, as stated in footnote # 18. See ‘Thinking it over’.
2! See footnote # 18. We are certain that 717 1X1 09wn by 03p; let us derive 17 from 03p.

4

TosfosInEnglish.com



XX 17"7 'oIn 8,27 M2 .7"02

And if you will say that we cannot derive 1721 from 01, let us derive 1721 from a 7%
7w from o31p and a Y21 and 1"'v;* why do we need the "1 of AN AR —

A fourth and final question:
- %0927 742 250 19¥ Y2INY NN TINDA MNP RN NP D10 NYIART 1193 NI

And also since we are referencing 2391 n2n2 why does the 89723 ask shortly, ‘why is it
by %21 that 717 1R 09wn, since he is liable for four other payments’; what is the
question?

929073 N1 05931 70 95 113 PRY MYAN 2393 N193) XN1N Y20 IND NYIa ON
Is 212 not a %27 payment; and there are many instances of wounding where he does
not pay all the five payments, as the X3 states in 2117 o,

mooIn offers an answer to this last question (#4):
= 7999 %2107 YW1 9NN 12 PNNY 139299
However the 2''291 explained that this is the refutation from 5217 -
- 959327/ 9592 Y 0¥9 19V YINT INDY NN
You know why by the 8% of %21 (the rule is 717 1°X) 0%wn) for occasionally there are

all five payments (when transgressing this 1X?; therefore we are strict 7212 1°X1 own) -
= 059327 /0 Y592 PR ONYIY NIHN XY THINK MIYT INDA 9NN

Can you say that regarding the X% of Tn IR N1y, (concerning which we want to derive
that 7?12 1°R1 07wn), where there is never a requirement to pay all 25927 ' (there is only
039 NW12), so perhaps he is D72WwWn 11X 717,

n1»oIN concludes:
:[9P9 DRI PNY 13929 YY)

And the s'5'' explanation is apparently the main one.]

Summary
We assume (°"9) that X7 maintains everywhere that 7?12 1K) 0°wn since we

utilize the two 77w 7w1 for NN *2°mM MR "27m, but not for XY "2»mM WY *27n.

> The X3 (on this TY) attempted to derive that 7% X1 o%wn from 1"y and 1. The xna refuted since there is a
Tmn 78 (or a 2p 7¥) by them. However if we would add o3p into the 7wi 7%, this refutation will not apply (because
there is no 7mn 7% (or %P 7¥) by (this) 01p). We cannot say that 1107 X2 &o1pn 81w, for we will answer 109 H21m1 1"y
that they are not 01p and 717 Ry Qown.
* See footnote # 18. The whole discussion, according to the 0", is regarding (2321 nw12) Tn.
* The X3 is saying that we cannot derive (by Tn) that Ap1> 11 obwn from 217, since 217 is 21 for 2127 (71) 7.
Therefore only by 2211 he is 712 2R oown (if R1T? ’19n).
2 nem (and 039) are part of the payments for 772r (which are nena ,naw 191 ,7w% ,[2s8] Po2).
% In all those cases, where there is no 0237 7 (for technical reasons), nevertheless the rule is 7P 11°X1 OYwn; the
same should apply to 0391 N2 (two of the five payments) that 717 12K 2w,
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Alternately the assumption is based either because X?1¥ did not answer 1N7Ww XD
12, etc., or because X2 answered, 703", and not QYW PRI 7IPI0.

Thinking it over
mooIn asks on n"D 7w (according to our X07°3), that since when we derive 717

o>wn 1°X) from nNnn nnn it is regarding 039 n13; why cannot we derive that by ™12
he is 712 1K1 29wn from 7w3n 7v1.”” Why is this same question not on the *"1 as
well; why do we not derive that by 5"12 he is 2%wn from 737 791?!

7 See footnote # 20.
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